
1)

1 + sinα = sin 90◦ + sinα = 2 sinα
90◦ + α

2
cos

90◦ − α

2
.

2)

1− sinα = 2 cos
90◦ + α

2
sin

90◦ − α

2
.

3)

1 + 2 sinα = 2(
1

2
+ sinα) = 2(sin 30◦ + sinα) = 4 sin

30◦ + α

2
cos

30◦ − α

2
.

4)

= 1− 2 sinα = 4 cos
30◦ + α

2
sin

30◦ − α

2
.

5)

= 1 + 2 cosα = 2(
1

2
+ cosα) = 2(cos 60◦ + cosα) = 4 cos

60◦ + α

2
cos

60◦ − α

2
.

6)

1− 2 cosα = −4 sin
60◦ + α

2
sin

60◦ − α

2
.

(Harsányi Zoltán, Eger.)

A feladatot még megoldották: Freund E., Jánosy Gy., Kiss.J

1


